Algebra |

Unit 2A Linear Equations

Graphing Linear Equations and Characteristics

Directions: Graph each linear equation and identify the key characteristics.
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Directions: Solve for y and graph.
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x-int: (2.9, 0)
—ink: (0,-4%)
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Slope: ~ 83
As X 503, F(x) > -~ QU
AS X5-09, £(x)> cO

L} (Civclé one)
Posifive Slape
Write the slope-intercept form of the equation of each line. Then identify the listed
characteristics.

Algebra 1 Name ID: 1
Graphing Practice Date Period
. Sketch the graph of each line. Then identify the listed characteristics.
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i 2 Eaualions and Inequalities
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Function Notation Homework

1. Evaluate the following expressions given the functions below:
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g(x) = -3x + 1 f(x) = x2+7 h(x)=;- Jj(x)=2x+9
a. g(10)=-29 b. f(-3)= |l c. h(-2)= -\
"'5(10) =y (-3)?}2'—1" ] ___!_;
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d. h(a) e. g(b+c)
f. Findxifg(x) =16 g. Findxifh(x) =-2 h. Find xif f(x) = 23
[0 =- 3%+ -a=5 23 = X% +7]
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a. fl-4)= > b. f{0)= 0 c. f(2)= -2 d. f-5)= O
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\* Find an equation of a linear function given h(1) = 6 and h(4) =-3.
(NOTE: Same as write the equation of the line given two points!)
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PLICATION
Swine flu is attacking Porkopolis. The function below determines how many people have

swine where t = time in days and § = the number of people in thousands.




